
We have been able to obtain no information ____ his
whereabouts.

Downloaded from ↪ www.CSSMCQs.com | 1

Complete the Sentence:
“We have been able to obtain no
information ____ his whereabouts.”
A. That of
B. According to
C. In Which
D. As to

Show Answer…
Correct Answer: D (As to)

Explanation:
The correct option to complete the sentence is D. “As to.” The phrase “as to” is
used to indicate a lack of information or uncertainty about a particular aspect or
topic. In this context, it suggests that there is no available information or
knowledge regarding the person’s whereabouts.

Sentences for options A, B, and C:

A. “That of”

We have been able to obtain no information about his whereabouts and the
whereabouts of others.
The detective was frustrated as he had hoped to gather some clues, but we
have been able to obtain no information that of his whereabouts.

B. “According to”

We have been able to obtain no information according to his family
members about his whereabouts.
The news report stated that the police have been able to obtain no
information according to witnesses regarding his whereabouts.
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C. “In Which”

We have been able to obtain no information in which the investigator could
base their search for his whereabouts.
The missing person’s case remained unresolved as we have been able to
obtain no information in which any leads could be pursued.

In the given options, option D “As to” is the most suitable choice to complete the
sentence and convey the intended meaning.

Consider linking to these articles:

Copy linkDoes she _____ the work?
Copy linkWhat is the Antonym of “Egregious”?
Copy linkWhat does the idiom “back against the wall” mean?
Copy link“I am glad _____ you success”.
Copy linkWhich of these animals has the longest gestation
period?
Copy linkAina is traveling _____ School
Copy linkAs ____ me, I will be happy ____ lend a hand.
Copy linkWhat is the formula for Arithmetic Mean?
Copy linkThe algebraic expression for “5 less than double the
amount of money” is given by?
Copy linkThe synonym of “BARBARIAN” is:
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